H £ 0l & AF & S

Al A

FA: Aot AEA
ma: AaT
SR AR =EAE 29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Aot=EAI A 36,345,622 31,127,026 4,218,5%
= 9,498,000
£ 1,000,000
= 867,800
Ea 23,979,822
a==ae] 495,404 1,037,379 ABA1,975
A28 =EAE 2 177,040 181,015 23,975
A8 =EAIE =22 177,040 181,015 A3,975
201 Ler23 | 160,540 164,015 A3,475
01 At2t2ltl 129,140 134,515 N5,375
O 272 =ZAE =EZA AISE 126,975
- 814 2I| BAHISH 2=)
90,0002 1009 Ax*12] 9,000
- = 20 A4 &)
75,0003 *1657 2+32] 37,125
- "= B0 SAHDE &)
55,0002 1659 A+22] 18,150
- I o 2AAHE0H B2)
380,000 x 1657 A+ 13] 62,700
O 22 BSAE(ASE) 2N AER 2,165
- R4 2I| 2AEH BR)
31,0002 *5IH 2-+32] 465
- = o BN ES)
340,000 50 A+ 18] 1,700
02 S3=gHl 31,400 29,500 1,900
O 2n2 =EAME S857 & 7A2
80,0003 x1657H A+23] 26,400
O He= SSAME g5+ & |A2
500,000& 5K 2-*22] 5,000
206 MH=Hl 16,500 17,000 A500
01 MZH| 16,500 17,000 A500
O =98 7Y 50,0002 1657 A*23] 16,500
A2 =EAE 2t 318,364 856,364 /538,000
ANEEXNS2AIE 65,500 65,500 0
401 AlZHIZ SO 65,500 65,500 0
01 A28l 65,500 65,500 0
O 272 =EAE HsS+AXEI| A
5,600,000 *5JH 2= 28,000
O 272 =EAE Z2HEX WA
3,500,000 *57H 2~ 17,500
O 272 =EAME 24T s T2 1
Al 4,000,000 *57H 2= 20,000
A28 =EAIE HEAE 102,000 220,000 118,000
401 AIEHIZ SR OHYI 102,000 220,000 118,000
01 Al&HI 102,000 220,000 A118,000




FA: Aot AEA
ma: AaT
el A2 A2 2 (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O A= et 472 =ZAE FHe=3 O
9 sz AIIAY
60,000,000& » 14 60,000
O 2n2 =ZAE F+E S WUAHSA
4,000,000 *37H 2= 12,000
O 472 =2 A4 283 EHSA
5,000,000 6K 2 30,000
A2 =EAIE HES 120,864 120,864
401 Al HIZL 048I 120,864 120,864
01 Al&H| 120,000 120,000
O A8 =EAI4 28 HES
2,400,000 *500H 2 120,000
03 AIESTHYI 864 864 0
O AL =ZAE HESSAFE R0
120,000,000 0.72% 864
a2 =EAIE AR EXIAE 30,000 450,000 A420,000
401 Al HIZL S 0HYI 30,000 450,000 420,000
01 Al&HI 30,000 450,000 420,000
O =& =& 72 HEAE & dAEAHE
A 30,000,000& » 14 30,000
ote=2tel 21,315,008 16,191,714 6,123,294
= 9,498,000
£ 1,000,000
< 867,800
s 9,949,208
SteHMelAlE 2 4,303,008 4,096,459 206,549
ot=ZSeXM2E 29 3,465,641 3,429,252 36,389
101 @124H| 3,840 11,520 A7,680
M OIRINZZ2NSE S 3,840 11,520 AT,680
O SHH? SSotxclAle ed3H| o
sl 160,000& x4 *6IH A*13] 3,840
201 ger=3| 1,3%,664 1,419,574 A22,910
01 AtR2tc|HI 52,440 71,350 A18,910
O ot==E2Held 2E2Y L=HI(SRA) 600
- &Y= 200,000 2 400
- et gt 100,000& 2 200
O &J1€d| etd2el e ==
310,000 70 A% 123 26,040
O ot=sclAE2 A
2,000,000& * 1 2A*12] 2,000
O ot+=32Xcld 482 78
1,200,000 *14] 1,200
O UZ2E SEotxcld g &It
=g 50,0002 6 300
O ot+=32Xcly 283 L=l 1,500




2A:

MM Siac2e
elr dt=XcIANE 28 (St &)
. = SIE]
SN - BB SRI(BIH) - NISAY - BES O]t e HlRE2
- moie 200,000 5% 1,000
- o5 100, 00021 %53 500
O POIRHIBY 242
150,000 601 2+ 123 10,800
O HH? B3ot=HelAld T=F% 22|
10,000,000 & * 14! 10,000
02 32| 1,344,224 1,348,224 24,000
O S3ot==HelAld &3
1,850,000 *6H A+ 12 133,200
O ot=& &3lt| 3,000,000 *12| 3,000
O dt=Held SEAAE SRS
33, 100353 2+ 123 21,052
O M DIEMTY SAXEBR SKB
2l 1,000,000 *50 0 2 23] 100,000
O olds S3ot==HalAlE JIHEH |Al
22| 500,000& *40Z*6H 2 120,000
O =EXNSEZEIPDI(MS) |22 =
1,600,000& 123 19,200
O +=&XSEHIII(MS) FRE=
1,200,000 *5CH*23] 12,000
O =ZXNsS=EI1D| EEZA
1,000,000& 5513 5,000
O agal J0|=el & &Hl KA E=
200,000& x20E5*23| 8,000
O S IBat+HIAL TelM 258
Hl =Xl2tel 650,000 *48J1*13] 31,200
O 8H? S3otHalAlE A A=5HE
Hl sXl2tel 600,000& *30JH* 13 18,000
O E3ot==HelAld IV SAE
200,000& *50CH* 12! 10,000
O oSt Xl /A H2ll
92,0002 4,000 368,000
O olds S3ot=HalAld HSI| 7mA&
cl 400,000& x50 +23| 40,000
O eSS S3ct=HMalAlE dI|&H] R
22| 2,500,000& 123 30,000
O 2= HelAld JIHEH sX2e
400,000&*50E*13] 20,000
O Z:HMelAd MEZOE SXNEx
3,000,000 14 3,000
O #HAxe B8 2 MABIE
900,000& * 14! 900
O #EAaxe RS 1,300& %400 £ » 12 6,672
O EAxe =6dKA 10,000,000& * 14! 10,000
O +EVSEIL(N)2Y +ALLS
10,000,000 %13 10,000
O X8 B36t=HMelAlE JIH&H |
22| 2,000,000 11 A+ 155 30,000




2A:

MM Siac2e
s ol=XclANE 29 (SH9 H2)
2 - IE!
SN - B - SRASH) - MRA - BAES ol &t e HIDSZ
O SHY ZZaHEHIAE JEH X
2 2,000,000& *1H 2+ 155 30,000
O &dH B3ot=XcIAlE JIAHEHl =Xl
22| 2,000,002 * 1} A*15% 30,000
O 2U ZZaHLH2IAE JIHEH X
2t 2,000,000 *1H2=*155 30,000
O 3Hipl BBat=H2IAE I & |X
2 2,000,000& * 142+ 155 30,000
O sXNH S3ot=xcIAld &I|&H| =Xl
22| 2,000,002 * 104 A*10Z 20,000
O SHH ZTELH2IAE HII&H X
2t 2,000,000 *1H2=*105 20,000
O &4t S3ote=xclAlE &II1E8H |Al
22 2,000,000 174 2% 105 20,000
O 2UY BBBEHIAE #I1LH X
el 2,000,000 * 1042+ 105 20,000
O 28 S3ot==xelAld &IIEH |
2rel 2,000,008+ 174 4+ 105 20,000
O &XI8 BBatH2IAE AELH |X
2 15,000,000 * 174 4 15,000
O SHH S3ot=XcIAlE A=EH| =Xl
22 15,000, 00021 %174 A 15,000
O BAY ZTELHRIAE ASLH X
2t 15,000,000 * 104 2 15,000
O 2UWE S3ot=xclAld A=FEH |
2t 15,000,000 * 1744 15,000
O s BBBLHIAE ASLH X
2 15,000,000 * 10 2 15,000
O FHISot=HMeIAE YANE L |XE
= 5,000,00024+53] 25,000
O SHTTH+HAL UHE L SXE
= 5,000,000& 52 25,000
206 MH=H| 221,740 179,240 42,500
01 MZHl 221,740 179,240 42,500
O 248 22X SEH 7Y
4,100& *25,000kg 102,500
O ZTot4HeIAL BISE £H2IR P
218,0002%18 £ 102 39,240
O %3 258 04 %42 7
10,000, 000& «29 A *33] 60,000
O A8A U 2ENVSEZTR ()LD A
%E 7Y 500, 0002 x205*22 20,000
307 lztol & 743,700 693,792 49,908
05 2IZtAE = 743,700 693,792 49,908
O S&ot=HclAlE U2ATS
743,700,000 x 14 743,700
401 A& HIX R0 1,009,697 1,125,126 N25,429
01 AlZH| 1,099,697 1,125,126 N25,429




2A:

MM Siac2e
&2l Sk=XlAlE 29 (CH9: &S1)
- ~ q LS
SN - BB SRI(BIH) - NISAY - BES O]t e HlRE2
O 2Uis3ote=HelAld =& €2I] uXAl
S At 150,000,000 * 14! 150,000
O SUWH33ot=HelAd =& €40 WAl
AL AAIEH 10,000,000& * 14! 10,000
O 2UlB3ot=HelAld DXl
19,655,000 & * 14! 19,655
O HLB2ot4E S PHA JIzTT 2
560,642,000& 14 560,642
O ga3ot=HelAMd =5 X A=
AHl WS A 160,000,000 *17| 160,000
O g383ot=HelAE =& A A5
S| WHSAE AAEA
10,000,000 & * 1A 10,000
O le=3ot=HelAlE BEx3AH(AS)
100,000,000 * 14! 100,000
O HYBZBAHRIAE SLBAH(AS) &
ANEH 10,000,000 14| 10,000
O S3ot=HelAld 3L FLNHEAH
20,000,000 14! 20,000
O =23ot=HelAld St &28 28tAcl
330,000 *180& 59,400
Ol= oSt=HXalAlE 29 837,367 667,207 170,160
201 L2 | 722,367 657,607 64,760
02 3244l 722,367 657,607 64,760
O Ot= ot==HMelAlE JIHEH |XE=
500,000 #4604 2 *23] 46,000
O 0t= ot==HelAlE dI|14H I+
1,100,000& * 1094 Ao %5 55,000
O 0t= ot==HelAlE HEEH |2+
400, 0002 *460H 2~ 18,400
O Ot= ot==HMelAlE A=EH |AE
5,000,000 * 150 2~ 75,000
O Ot2 st=HelAld dIIe3
350,000 464 L+ 128 193,200
O BlIXelxe s&4
1,300 %480 £ »12& 8,007
O YUEH™elxte =&
3,000,000 14 3,000
O glIXelxz 282 2 Al
900,000& *12l 900
O o2 ot EHX =HE
283 %10, 000kg*460H 2 * 123 154,560
O DIS2H9 St=HelAlE SHEZE Y 5t
SETSTRTEE PN
370,000 5404 2 +53] 99,900
O X8 A= #HE L orF)| szl &
> 29 600, 0002 * 1144 68,400
401 A& HIZ 200 115,000 115,000
01 Al&Hl 115,000 115,000




2A:

B Sl
s ol=XclANE 29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O OldESSot=HelAlE ¥= WHSA
15,000,000 * 14 15,000
O &XIH 836t=E ZUHE AIAE &X
SAt 100,000,000 * 14! 100,000
A 2ot 385,000 1,869,000 1,484,000
272 0ISotsS HU|(FRIMETHIAALY) 245,000 519,000 274,000
401 AIEHIZ R 0HYI 245,000 519,000 A274,000
01 Al&HI 245,000 519,000 A274,000
O &bt S8t o= FHISA
20,000,000& * 14| 20,000
O =B 4 s+ FHIZA
20,000,000 *14] 20,000
O =S8 M3 ot=x ZHISA
30,000,000 *14! 30,000
O 23 & o= ZUISA
20,000,000& * 14| 20,000
O A= o 512G EHHIZA
20,000,000 * 14 20,000
O A= X o= ZHISA
30,000,000& *14! 30,000
O A= 24l st=5 FHIZA
20,000,000& * 14| 20,000
O A= EHQ! St=5 ZHISAL
25,000,000 * 14 25,000
O et dat ot ZHISAL
45,000,000& *14] 45,000
O EU M3t at==5< ZHIZAL
15,000,000 * 14| 15,000
22 OtSote= RAl2el 140,000 100,000 40,000
401 A& HIX R0 140,000 100,000 40,000
01 AlZH| 140,000 100,000 40,000
O 212 OIStk 228 B
70,000,000 * 14! 70,000
O ot=& ELSA 70,000,000 *14] 70,000
St==2t HEH| 5,478,000 2,084,000 3,394,000
= 2,966,000
= 1,000,000
o 1,512,000
&SX 0I0F ot==2tZ ZHISA 1,176,000 302,000 874,000
= 823,000
T 363,000
401 Al HIZL 201 1,176,000 302,000 874,000
= 823,000
= 363,000
01 Al&HI 1,016,000 151,000 865,000




FA: Aot AIE A
B Sl
&2l o=t 1 E (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O &7 0/0F 5t=22 FHIZA
1,016,000,000& » 14 1,016,000
= 693,000
Ea 323,000
02 Zeltl 160,000 150,000 10,000
O &XI 0I0F 51422 FHIZAF Z2lb|
160,000,000 * 14! 160,000
= 130,000
Ea 30,000
oy ot=2=Z FHHIAY 1,687,000 996,000 691,000
= 1,181,000
o 506,000
401 A& HIX R0 1,687,000 996,000 691,000
= 1,181,000
o 506,000
01 A28l 1,287,000 845,000 442,000
O s ol=2= HHIA
1,287,000,000& *14] 1,287,000
= 901,000
[Ea 386,000
02 Zeltl 400,000 150,000 250,000
O iegE ol=2t2 JHIAIY 2l
400,000,000 * 14 400,000
= 280,000
Ea 120,000
SUH U ofe2tZ IHIAIE 143,000 500,000 /357,000
= 100,000
o 43,000
401 AIEHIZ R HYI 143,000 500,000 /357,000
= 100,000
= 43,000
01 Al&H| 142,000 499,000 /357,000
O 2UH Ui St=2t2 FHIAIY
142,000,000 *14] 142,000
= 100,000
Ea 42,000
03 Al = THHI 1,000 1,000 0
O 2UH i ot=2t2 FHIAIY 20|
1,000,000 *14] 1,000
32 33 ol+22 FHIAIY 517,000 286,000 231,000
= 362,000
= 185,000
401 Al HIZ 2018 517,000 286,000 231,000
= 362,000




FA: Aot AIE A
B Sl
&2l o=t 1 E (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
[Ea 185,000
01 AlZ2H| 417,000 285,000 132,000
O 32 2t ote-2Z IHIAE
417,000,000 *14] 417,000
= 292,000
[Ea 125,000
02 Zeltl 100,000 0 100,000
O 3iel 312 s422 FHlAlY 22t
100,000,000 *14] 100,000
= 70,000
Ea 30,000
H= ZE ol=2Z ZHISA 1,122,000 0 1,122,000
= 1,000,000
o 122,000
401 AIEHIZ SR HYI 1,122,000 0 1,122,000
= 1,000,000
T 122,000
01 Al&H| 1,038,000 0 1,038,000
O AT UE 51422 Fl A
1,038,000,000& » 14 1,038,000
= 1,000,000
[Ea 38,000
02 Zcltl 84,000 0 84,000
O A= HZ ot+2Z JHISAH 22l
84,000,000 * 14! 84,000
oHedE oS ot=22 FHIAY 833,000 0 833,000
= 500,000
= 333,000
401 Al HIZL 048I 833,000 0 833,000
= 500,000
o 333,000
01 Al&H| 623,000 0 623,000
O eSS 2ts ot=22 FHIAIY
623,000,000 * 14 623,000
= 375,000
s 248,000
02 2/l 210,000 0 210,000
O digs oS ot=2=2 JHIAIE Zcltl
210,000,000& x14] 210,000
= 125,000
= 85,000
St=Xeld X 3,103,000 3,436,000 A333,000
= 1,500,000
= 300,000




2A:

B Sl
el SteXeld £X EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
[Ea 1,303,000
oy SEotrXeld SEAY 3,000,000 2,736,000 264,000
= 1,500,000
= 300,000
= 1,200,000
401 AlZHIZ S 0HbI 3,000,000 2,736,000 264,000
= 1,500,000
< 300,000
s 1,200,000
01 Al&H| 3,000,000 2,235,000 765,000
O tieds sSotxcld SEAY
3,000,000,000& *14] 3,000,000
= 1,500,000
< 300,000
= 1,200,000
ol=xclAld S8 88 3,000 3,000
201 Ler23| 3,000 3,000
01 At2teltl 3,000 3,000
O s8dE HaAidsl 218 42 =¢
200,000 x5 +33] 3,000
s0E0So=S ZHI(XHA) 100,000 100,000
401 AIEHIZ SR 0HYI 100,000 100,000
01 AlZ8| 100,000 100,000
O 472 sHE0tSot== FHIAE JI=2
E=VNP=P (= 100,000,000 * 14! 100,000
s E0tSok=5 EH| 7,926,000 3,706,255 4,219,745
= 5,032,000
< 567,800
[Ea 2,326,200
SHEONSo=T ZHI(EA Al 1,016,000 185,000 831,000
= 711,000
=S 61,000
s 244,000
401 AIEHIZ SR THYI 1,016,000 185,000 831,000
= 711,000
= 61,000
Ea 244,000
01 A28l 916,000 115,000 801,000
O sldh JE s0E Oisot+=T
916,000,000 *14] 916,000
= 641,000
= 61,000
Ea 214,000
02 Zeltl 100,000 70,000 30,000




FA: Aot AIE A
B Sc e
el sHEOSoteE Ehl EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O Bt Algt S0i= Oh2ot+g Zeltl
100,000,000 *14] 100,000
= 70,000
Ea 30,000
s0HE0S6=T (A= EHe) 2,460,000 439,255 2,020,745
= 1,519,000
= 188,200
[Ea 752,800
401 AIEHIX R0 2,460,000 439,255 2,020,745
= 1,519,000
== 188,200
= 752,800
01 Al&HI 2,340,000 288,255 2,061,745
O A= B9 S0E 1Esias
2,340,000,000& * 14 2,340,000
= 1,444,000
& 188,200
= 707,800
02 Zeltl 120,000 150,000 30,000
O 72 Elel S0i& O2sieg 22kl
120,000,000 *14] 120,000
= 75,000
s 45,000
sHENSGE ZHI(SE N8) 206,000 163,000 43,000
= 131,000
= 15,000
o 60,000
401 Al HIZ R 0HHI 206,000 163,000 43,000
= 131,000
= 15,000
Ea 60,000
02 Zeltl 206,000 70,000 136,000
O 2B HE s0= Di2s+s L2l
206,000,000 *14] 206,000
= 131,000
= 15,000
[Ea 60,000
sHENS6E ZHI(SY &F) 1,480,000 429,000 1,051,000
= 945,000
= 107,000
o 428,000
401 AIEHIX SO 1,480,000 429,000 1,061,000
= 945,000
& 107,000




FA: Aot AIE A
B Sc e
el sHEOSoteE Ehl EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
2 428,000
01 Al&H| 1,360,000 279,000 1,081,000
O 22 B& S01E 01254S
1,360,000,000& *14] 1,360,000
= 870,000
= 107,000
Ea 383,000
02 Zeltl 120,000 150,000 230,000
O 29 8& =0i1= I2514T 22t
120,000,000 * 14! 120,000
= 75,000
T 45,000
SOHEOIS6+E JHI(SE 2AE) 336,000 165,000 171,000
= 206,000
< 26,000
Ea 104,000
401 Al HIZL S 0HYI 336,000 165,000 171,000
2 206,000
= 26,000
2 104,000
01 Al 33,000 90,000 246,000
O 2 %48 S0i& 0I254+E
336,000,000& *14] 336,000
= 206,000
=S 26,000
s 104,000
s0E0S6+=T ZHI(SX 0ts) 227,000 562,000 A335,000
= 159,000
=S 13,600
s 54,400
401 Al HIZ R 0HHI 227,000 562,000 A335,000
= 159,000
= 13,600
Ea 54,400
01 A28l 157,000 362,000 205,000
O &4 Ots s0E Oi=ot=k
157,000,000 * 14! 157,000
= 109,000
= 13,600
[Ea 34,400
02 Zcll 70,000 200,000 130,000
O &1 0t s0E OtSot=T a2l
70,000,000& *14] 70,000
= 50,000
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243,000
170,000
14,600
58,400

553,000
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01 A=l
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48,000

498,000

297,000

401 AlEHIYL 2 THYI

MW

201,000
141,000
12,000
48,000
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297,000

01 AlZH|
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02 Zeltl
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120,000,000 * 14!
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SA - ZE . BR(8) - HRAR - BES of v e HIDE2
401 Al HIZL 2018 143,000 98,000 45,000
= 100,000
== 8,600
[Ea 34,400
01 Al&HI 143,000 97,000 46,000
O &7 =8 =0i= ni2sias
143,000,000 *14] 143,000
= 100,000
== 8,600
o 34,400
s0ENS6=S ZHI(2W o= 143,000 92,000 51,000
= 100,000
== 8,600
o 34,400
401 AIEHIZ SR 0HYI 143,000 92,000 51,000
= 100,000
= 8,600
o 34,400
01 AlZ2H| 143,000 91,000 52,000
O 2U 02 S0iE 0125teE
143,000,000 * 14! 143,000
= 100,000
= 8,600
o 34,400
sHEONS6T (& 2L 583,000 0 583,000
= 350,000
= 46,600
[Ea 186,400
401 AIEHIX R0 583,000 0 583,000
= 360,000
= 46,600
= 186,400
01 Al&H| 583,000 0 583,000
O &t 29 sHE Oisolsk
583,000,000 x 14 583,000
= 360,000
= 46,600
= 186,400
sHEONS6+E ZH(SY 25) 333,000 0 333,000
= 200,000
= 26,600
= 106,400
401 Al HIZ 2018 333,000 0 333,000
= 200,000
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< 26,600
s 106,400
01 A&t 333,000 0 333,000
O 22 2= 50/& 012s4s
333,000,000 * 14 333,000
= 200,000
< 26,600
= 106,400
SOEOIS6t=T ZHI(&HF A1) 555,000 0 555,000
= 300,000
[ 40,000
T 215,000
401 Al HIZL 201 565,000 0 565,000
= 300,000
== 40,000
o 215,000
01 Al&HI 565,000 0 555,000
O &at dJ| S0l Ot=otek
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